Ol &F A

Al A

3 FUNE 2H0lg FE
e A0 SEMH EH (Gt H2)
A -3 - SRA(3H) - MRAE - BES Ofl &F2H I3 A Hwusz
A=t 15,218,429 15,194,246 24,183
= 5,000 5,000 0
Al 104,193 104,193 0
- 15,109,236 15,085,053 24,183
FeEol 30l 78 11,468,978 11,462,368 6,610
= 5,000 5,000 0
Al 104,193 104,193 0
- 11,359,785 11,353,175 6,610
M| SEM ZF 6,034,998 6,030,998 4,000
Al 56,393 56,393 0
- 5,978,605 5,974,605 4,000
MY D] el 702,811 698,811 4,000
201 Ler2aY| 360,361 356,361 4,000
2 s==3tl 331,657 327,657 4,000
OAIEEHIS A 10,900 6,900 4,000
OZS, 54 HYXFA(H2)RA LS
2,000,000 x20H 2=+ 12 4,000 0 4,000
SMEFHDIZ X 4,119,061 4,116,451 2,610
SASFRHDIZS Xl & 2 =X 4,119,061 4,116,451 2,610
206 MHZHI 9,860 7,250 2,610
01 M=l 9,860 7,250 2,610
OXel+=g dRES NH 9,860 7,250 2,610
0512 2l 35 d& 292340, 00004 9,860 7,250 2,610
Hegs(X=e) 18,190 617 17,573
2AXE 18,190 617 17,573
=N EX3 gre 18,190 617 17,573
802 gtet=0Et 18,190 617 17,573
01 = NEXSEHES 1,174 0 1,174
OsZEHHIE =243 JzA
1,074,700 1,075 0 1,075
OSZEHHIE =H24= 0IXt
94,5602 % 0 %
213 sEMHHE +=HEd= 0%
3,190 4 0 4
2 Al - CHIEXSEES 17,016 617 16,399
OF0|H +=HEd= NN
4,000,000 4,000 0 4,000
OHEX +=HEA= HHEH
7,000,000 7,000 0 7,000
OsZEHHIE 243 JHzA
4,836,150 4,837 0 4,837
OsZHHE =H24= 0IA
64,7202 65 0 65
O219: SEMHHIE =HEa= 0%
14,370 15 0 15
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